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Tables principales : transformées de Laplace

f(t) F(s)

1 ou u(t) 1
s

t 1
s2

tn (n entier positif) n!
sn+1

e−at 1
s+a

te−at 1
(s+a)2

sin(wt) w
s2+w2

cos(wt) s
s2+w2

e−atsin(wt) w
(s+a)2+w2

e−atcos(wt) s+a
(s+a)2+w2

tsin(wt) 2ws
(s2+w2)2

tcos(wt) s2−w2

(s2+w2)2

tn, n ∈ R, n > −1 Γ(n+1)
sn+1

u(t− a) e−as

s

1



F(s) f(t)

1
(s+a)n , n entier positif

tn−1e−at

(n−1)!

1
s2+w2

1
wsin(wt)

1
(s+a)2+w2

1
we

−atsin(wt)

1
s2−a2

1
2a(e

at − e−at)

s
s2−a2

1
2(e

at + e−at)

1
(s+a)(s+b) , si a 6= b 1

b−a(e
−at − e−bt)

s
(s+a)(s+b) , si a 6= b 1

b−a(be
−bt − ae−at)

1
(s2+w2)2

1
2w3 (sin(wt)− wtcos(wt))

s
(s2+w2)2

1
2w tsin(wt)

s2

(s2+w2)2
1

2w (sin(wt) + wtcos(wt))

1
s(s2+w2)

1
w2 (1− cos(wt))

1
s2(s2+w2)

1
w3 (wt− sin(wt))

s
(s2+w2)(s2+β2)

, si w2 6= β2 1
β2−w2 (cos(wt)− sin(βt))

1
(s2+w2)(s2+β2)

, si w2 6= β2 1
βw(β2−w2)

(βsin(wt)− wsin(βt))

2


